— 1L O
A7
MA Ol 29
7L HA Y BR (20151 112 20, ©9I : HEY/S)
T SO0t X 25 | 29 d <
zg8H 7 2gu7 5 el
78 10 70 250 260 566 1444 | 2564 | 2729 | 1950 | 882 | 3392
78 20Y 69 267 257 591 1418 | 2568 | 2711 | 1972 | 906 | 3158
7930y 71 276 259 605 1414 | 2553 | 2690 | 1973 | 887 | 37286
8% 10 69 279 256 607 1,406 | 2535 | 2674 | 1959 | 890 | 3473
8% 20y 73 291 254 621 1389 | 2531 | 2670 | 1966 | 910 | 3596
8% 30Y 75 300 252 624 1,408 | 2525 | 2655 | 1.951 882 | 3395
0% 10y 74 305 255 632 1423 | 2464 | 2628 | 1953 | 896 | 3618
0% 20y 75 313 255 644 1,403 | 2474 | 2640 | 1955 | 916 | 3450
9% 30 79 314 263 649 1434 | 2483 | 2618 | 1954 | 915 | 2405
108 10 77 314 268 660 1,443 | 2533 | 2641 | 1967 | 921 | 3481
108 20y 80 316 268 660 1,440 | 2569 | 2618 | 1972 | 979 | 3307
102 30Y 78 307 274 662 1468 | 2571 | 2577 | 1977 | 996 | 3370
18 10y 75 296 260 638 1470 | 2589 | 2623 | 1937 | 975 | 3132
118 20y 70 280 260 639 1451 | 2604 | 2678 | 2031 | 1,044 | 3587
g SYUBYYUEME 71AYE)
Lt 12
(2015 1€ 23, % @ M)
dxsamz | YOS | D@z | damz | A
i ?’1 21‘11%71) = Bl
s 14, 11 15. 10 1~10 lile23
A | 24(600kg) ot 4,044 4,520 5,882 5,710 6,024 333
x| 200x| - 1,856 2,258 3,120 2,500 2,500 34.7
7t (4~58d) ot 1,155 1,453 2,526 2,200 2,450 112.1
& A0}%] - 2014 2,454 3.357 2,988 3,196 587
(e | (6~7E) ot 1.334 1,851 2,690 2,551 2,594 945
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| Mz SEE HFaM 80| F0] | (€9 ;%)
e 1ASE 1BS= 2e= 358 i1
= (33tajeh) (1oto|2h) (258t0]2t) (50atajah) (50815 3)
= 89.9 86 1.2 0.2 0.1
20154
og 92.0 6.6 1.1 0.2 0.1
| MM ST AR 7| Z0| | I
5 155 253 352 453 552
T (202tn|2H) (35atnjeh) (502ta[gt) (758t0]gh) (758tx11)
S| 455 40.6 11.2 3.1 0.2
20154
94 50.0 384 92 22 0.2
| Mz 1ASE | 4] | | HMZ 1855 FE T |
A (%) MUY S48 TEHI%) Tdcid 528
96 10% 20%
95.2 95.0
94
6%
10%
92.1
92 g9 .
91.7\90.5 914 628 &
90 40 0%
\AZ 89 00 o9 %
88 89.1
30 -10%
6%
86 5%
84 -10% 20 20%
108 18 129 ® 3% 48 53 6% 78 8F oW C 128 B 3% ¥ 68 8% OF
144 14!
Rz Ysss
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\}

E7 ﬁ |4
L} 2R/ ST ol
o Xt A x2S EHXER
og 14,970 921 14,049
— 102 15,848 816 15,032
k= 16,816 820 15,996
12¢ 18,484 952 17,532
Ih= 20,849 1,175 19,674
28 21,973 1,147 20,826
3g 21,951 1,158 20,793
44 21,701 1,082 20,619
20151 59 21,564 922 20,642
6g 20,944 815 20,129
74 20,476 799 21,275
8g 21,107 727 20,380
o 20,729 670 20,059
AR ¢ sz
BAE YA
7t ot FHIF A @9l £ 22)
gt 15, 1~10 14, 1~10 i HI(%)
=5 2(A) Z4(B) S(A) ZU(B) A/A B/B’
Y39 IH(0ls=) 919 642 272 260 337.9% 246.9%
(A s/71E) 80 234 113 357 70.8% 65.5%
g X 2 % 16,367 44,756 17,053 76,743 96.0% 58.3%
NI 1,708 5,527 1716 8,783 99.5% 62.9%
A = 49 109 235 701 20.9% 15.5%
E k=2 o2 408 2516 265 2,302 154.0% 109.3%
H OB & 3 132 512 28 143 471.4% 358.0%
= 2 28313 39,881 26,683 48,710 106.1% 81.9%
H =] 5,399 23018 4310 21970 125.3% 104.8%
x| = 91,560 419,275 79,878 409,853 114.6% 102.3%
= f 19,005 19,833 15,602 25,826 121.8% 76.8%
7t X el 2 16 4 27 50.0% 59.3%
g A 163,942 556,319 146,159 595,675 112.2% 93.4%
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Lt Z30t, 27, HE, 0l0|ASE Z=XIE

(T : E H8)
lgf 15, 1~10 14, 1~10 ] HI(%)
== Z2(A) Zol(B) z2HA) ZH(B) A/A’ B/B
ZHER/ARE 3,434 53,187 2,493 44,178 137.7% 120.4%
E g B g 27,010 81,347 33,016 139,356 81.8% 58.4%
H e = X & 22,052 82.651 21,000 93,775 105.0% 88.1%
OlO|ATEZXE 763 4,492 856 6,533 89.1% 68.8%
AE 0 EAME
=2 A
17| Y BAE SUMH
7). 47| 42 M |
(€t : E HZ)
e 15, 1~10 14, 1~10 ] H|(%)
Slei
2=s fep
S Z2(A) Zol(B) zahA) ZH(B) AJA’ B/B’
W R Al T 7| 35,714 326,602 31,065 272544 115.0% 119.8%
W E A T 7 125,105 751,547 121513 643,139 103.0% 116.9%
g A 160,819 1,078,149 152,578 915,683 105.4% 117.7%
X2 M
L}, & BAtg ol M R
e "15. 1~10 14, 1~10 CH H{(%)
A==
I
e Z2kA) 2(B) S(A) (B AIA B/B’
M (YA 2,750 25516 2,158 17,723 127.4% 144.0%
5 0 0 3 24 0.0% 0.0%
il 2| 3,456 24,637 2.822 17,522 122.5% 140.6%
= 811 1,459 433 478 187.3% 305.2%
A o 2,637 4,422 2,728 4528 96.7% 97.7%
7| Ef 23,983 114,029 24,636 107,767 97.3% 105.8%
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